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QUESTION BANK: GRADE: 7
SUBJECT: MATHEMATICS
CHAPTER 1: MULTIPLICATION AND DIVISION OF INTEGERS

A. Choose the correct answer

1. Multiplication of —2,—7and — 10 gives
(a) —34 (b) 19 (c) — 140 (d) 90

2. 15divided by - 3 is equal to
(a) 12 (b) — 12 © -5 d) 5

3. Which of the following is not true

(1) 0+2=0 (b)-25+5= -5 (c)12+0=12 (da+1=4

B. Following 3 questions carry 2 marks each.

1. Find (=30) % [13 +(-3)]
2. Find [(=6)+5)]=[(-2)+1]
3. Find (1) x(-5) x(-4)x(-6)

C. Following 2 questions carry 3 marks each.

1. Find the following: 2. Find the trail from start to finish.
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